Whitman College 
Econ 358 
Exam 1 
September 28, 1998 

Write all answers in your blue book. Show all of your work. 





1. (20pts) Briefly describe the four functions of financial markets discussed in class. 



2. (10pts) Why can an indifference curve not be upward sloping? 



3. Consider the simple savings model from class. This is a two-period pure exchange economy with one non-durable and divisible consumption good at each date. There are many non-identical consumers endowed with quantities of the goods, and nothing else. Suppose the market interest rate is r=0.2. A particular consumer, Ronald, has an endowment of 30 units of the date 1 good, and 20 units of the date 2 good. 

(a) (25pts) Graph Ronald's budget line. Label the axes on your graph, the intercepts of the budget line, and the point that represent Ronald's endowments. 

(b) (20pts) At Ronald's consumer equilibrium, he saves 10 units of the date 1 good. On your graph, indicate the amounts Ronald consumes at each date. On your graph, indicate the indifference curve Ronald reaches when he consumes these quantities. 

Ronald has the opportunity to undertake an investment project which requires spending 20 units of the date 1 good and provides benefits of 30 units of the date 2 good. 

(c) (30pts) On your graph from above, show Ronald's new budget line if he undertakes the project. Label the x- and y-intercepts for this budget line. On your graph, indicate the net present value of the project. On your graph, indicate the indifference curve Ronald would reach if he took the project. Explain whether or not he should take the project. 



4. Suppose a homeowner currently owes $100,000 on her home mortgage. The mortgage is at a 9% interest rate and has 20 years remaining until it is paid off. Assume that the homeowner makes annual payment on the mortgage. 

(a) (15pts) What annual payment does the homeowner make on her mortgage? 

(b) (15pts) What annual payment would the homeowner make if she refinanced so that she had a 20-year $100,000 mortgage with a 7% interest rate? 

(c) (15pts) Suppose now that the homeowner refinances her $100,000 mortgage at a 7% interest rate, but she keeps making her original payment, i.e. the payment you calculated in part (a). After how many years would she have her $100,000 mortgage paid off?
